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H#4 X (cm) KRERAE | EREER
Z (1zhn) XK 1880 BE4T60 = X 235 36k 1,980,000 8,000
H(APW) KR 1580 BafT42 = X235 244 ¥k 1,700,000 8,000
B (nLY) AR 1880 B1T42 = X235 244 ¥k 1,700,000 8,000
M (mZH) KA 1860 B{T42 = & 235 1841k 1,280,000 8,000
¥ (DEH) KA 1860 B1T42 = X235 184tk 1,280,000 8,000
EEE -
o (Z2Z23) KA 1540 BB1T42 = X200 1241 928,000 8,000
B (xz) KA 1540 Ba4T42 = X200 124 t% 928,000 8,000
# (Lob) _ o ‘
. ( : . ¢ 1840 B1T42 &34 A% 398,000 8,000
Xxayvh—=
¥ (0 h) . _ o
) X AL 1840 B1T42 534 A% 1% 398,000 8,000
Oy h—=
1445k BIABKALXE328,000M
BUODOLETY 7T 334 — 2%tk B2 AA1XEH4E58,000M
(BB/E, Z LR, *UFVE, & HEE) RS WO TR RE
KR — 14k 50,000/ &
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